
 

  

What type of calculation do we 

need to do to find out the 

answer? 

This method uses a bar model 



 

  

In this method, we partition 

304 in to 300 and 4 

This is a different calculation, 

but it uses the same methods. 



 

  



 

  

Use the pictures of the base 10 

to help you. You can draw out 

your own if you need to 



  



 

Extension 

Challenge yourself with these activities 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Is this statement always true, sometimes true, or never true? 

“When you multiply a 3-digit number by a 1-digit number, the 

answer has 4 digits” 

Prove your reasoning with examples 

  



 

  



 


